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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2019 

 

Subject Name : Electrical Traction and Control 

Subject Code : 2TE05ETC1   Branch: Diploma (Electrical) 

Semester : 5           Date : 22/03/2019 Time : 10:30 To 01:30  Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  For Principal of Magnetic levitation, ______is the Force on conductor   

A. F=BIL 

B. F=BL/I 

C. F=IB/L 

D. F=IL/B 

1 

 b)  Distance between two stops can be found by  

A. D= Va*T    

B. D=Va/T   

C. D= (T+ts)/Vs 

D. D=Vs/T+ts 

1 

 c)  Time of retardation can be given by 

A. t1=Vm/αβ   

B. t3=Vm/β   

C. t2=Vm/αβ  

D. None of above 

1 

 d)  The increasing speed of train per sec, per Km per hour is 

A. Crest speed  

B. Coasting   

C. retardation     

D. Acceleration  

1 

 e)  For the typical speed time curve _____service  has the maximum free running 

time?  

A. Urban 

B. suburban  

C. Main line  

D. All of above 

1 

 f)  For over head line,______Factor affects current collection  

A. Dynamic  

B. Size of pantograph  

C. Suspension 

D. All of above 

1 
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 g)  _____is the Speed control method of DC series motor  

A. Controlling field flux      

B. Bridge transition 

C. Drum type master control   

D. Contactor  

1 

 h)  _____is non electrical braking 

A. Air braking  

B. Regenerative 

C. Vacuum braking  

D. both(a) & (c) 

1 

 i)  Frequency of dc supply of DC Drive is _____________ 

A. 0  

B. 50Hz 

C. equal  

D. Less than AC 

 

1 

 j)  In India diesel locomotives are manufactured at______ 

A. Ajmer 

B. Varanasi 

C. Bangalore 

D. Jamalpur 

1 

 k)  For diesel locomotives the range is ______ horsepower   

A. 50 to 200 

B. 500 to 1000 

C. 1500 to 2500 

D. 3000 to 5000 

1 

 l)  The speed of a superfast train is 

A. 60Kmph    

B.  75Kmph     

C. 100kmph      

D.  more than 100kmph 

1 

 m)  _________is used in Long distance railways  

A. 200 V D.C. 

B. 25 kV single phase A.C. 

C. 25 kV two phase A.C. 

D.  25 kV three phase A.C. 

1 

 n)  Breaking force on driving wheel depends on_______ 

A. Acceleration 

B. Dead weight  

C. Control method 

D. Distance  

1 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) State advantages and disadvantages of electric traction over steam traction 7 

 (b) What is speed time curve? Draw and explain actual speed time curve for 

suburban and urban service 
7 

    

Q-3  Attempt all questions (14) 
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 (a) Explain the construction & working of linear induction motor. 7 

 (b) Describe why D.C. series motor is ideal for electric traction. 7 

    

Q-4  Attempt all questions (14) 

 (a) Classify the catenaries system and explain any one in detail. 7 

 (b) State the different methods of collecting current from overhead system. Explain 

any one method 
7 

    

Q-5  Attempt all questions (14) 

 (a) Explain high speed traction system. 7 

 (b) Derive the general equation for tractive effort. 7 

    

Q-6  Attempt all questions (14) 

 (a) Discuss the different types of electric braking system. 7 

 (b) 400 tone goods train is to be hauled by a locomotive up a gradient of 20% with 

acceleration of 1kmphps. Coefficient of adhesion is 20%, track resistance 40 

N/tone and effective rotating mass 10% of dead weight. Find the weight of 

locomotive. 

7 

    

Q-7  Attempt all questions (14) 

 (a) Draw and explain power circuit diagram of a locomotive using composite system. 7 

 (b) Explain arno convertor with diagram. 7 

    

Q-8  Attempt all questions (14) 

 (a) A train has schedule speed of 30kmph on a level track. Distance between station 

being1 km. station stopping time is 20sec.assuming breaking retardation of 

3kmphps and maximum speed is 25 percent greater than average speed. Calculate 

acceleration to run the services 

7 

 (b) What is schedule speed? State and explain the factors affecting it. 7 

    
 

 

Q-1  Attempt the following questions: 

 
(14)  

 a)  ભેગ્નેટિક રેવલિેળન વિધધધાંત ભધિે,લધહક ઩ય પ૊િસ _____ 
A. F=BIL 

B. F=BL/I 

C. F=IB/L 

D. F=IL/B 

1 

 b)  ફે સ્િ૊઩ લચ્ચે અંતય દ્વધયધ ળ૊ધી ળકધમ છે  

E. D= Va*T    

F. D=Va/T   

G. D= (T+ts)/Vs 

H. D=Vs/T+ts 

1 

 c)  લેગ ભાંદન ન૊ િભમ  
A. t1=Vm/αβ  

1 
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B. t3=Vm/β    

C. t2=Vm/αβ    

D. t1=Vm/α 

 d)  ટે્રનૌ નધ લેગભધ ઩ય િેકન્ડ,કીભી ઩ય કરધક રેખ ેથતધ લધધયધ ન ે

A. ભહ્ત્તભ ગતી   
B.  ક૊સ્િીગ    
C. પ્રવત પ્રલેગ    

D. પ્રલેગ 

1 

 e)  ગતી િભમ લક્ર ભધિે _____િવલિિભધ ફે સ્િેળન લચ્ચે ન ુઅંતય િોથી લધધયે હ૊મ છે. 
A. અફસન 
B. િફ અફસન   
C. ભેઇન રધઇન 
D. આ઩ેરી ફધી  

1 

 f)  વળય૊઩યી લધહક ભધિે,______પ્રલધહ િાંગ્રધહકને અિય કયે છે 

A. ફ઱ ગતીળીર લતસણકુ  
B. ઩ેન્િ૊ગ્રધપ ન ુકદ   
C. િસ્઩ેંિન 
D. આ઩ેર ફધધ 

1 

 g)  _____એ DC શ્રેણી ભ૊િયની ગતી નીમાંત્રણ ઩ધધવત છે. 
A. ચુાંમ્ફટકમ ક્ષેત્ર નીમાંવત્રત કયીને      

B. બ્રિજ િાંક્રભણ  
C. ડ્રભ પ્રકધયન ુમખુ્મ નીમાંત્રક  
D. ક૊ન્િેક્િય 

1 

 h)  _____એ બ્રફન ઇરેક્ટ્ક્ટ્રક િેટકિંગ છે  
A. એય િેટકિંગ 
B. યીજ્નયેિીલ િેટકિંગ 
C. શનુ્મલકળ િેટકિંગ 
D. ફાંને્ન(a) & (c) 

1 

 i)  ડી િી ડ્રધઇલ ભધ  ડી િી િપ્રધમ ની ફ્રીક્લાંિી ____________ છે  

A. 0  

B. 50Hz 

C. ફયધફય 
D. AC કતધસ ઓછી 

 

1 

 j)  બધયતભધાં ડીઝર એન્ન્જન૊ _______ ઉત્઩ધદન કયલધભધાં આલે છે 
A. અજભેય 

1 



Page 5 of 6 

 

B. લધયધણિી 
C. ફેંગર૊ય 
D. (4) જભધરપયુ 

 k)  ડીઝર એન્ન્જન૊ ભધિે શે્રણી ______ હ૊િસ઩ધલય છે  
E. 50 to 200 

F. 500 to 1000 

G. 1500 to 2500 

H. 3000 to 5000 

1 

 l)  સ઩ુયપધસ્િ ટે્રન ની ઝ્ડ્઩………………. 

E. 60Kmph      

F. 75Kmph    

G. 100kmph    
H. more than 100kmph 

1 

 m)  રધાંફધ અંતય _________ યેરલે ઉ઩મ૊ગભધાં રેલધમ છે 
A. 200 લી ડી.િી. 
B. 25 KV સધુી એક તફક્ક૊ એ.િી. 
C. 25 KV સધુી ફે તફક્કધભધાં એ.િી. 
D. 25 KV સધુી ત્રણ તફક્કધ એ.િી. 

1 

 n)  ડૈ્રવલિંગ ઩ૈડધની ધધય ઩ય રધગત ુિેટકિંગ ફ઱_______઩ય આધધય યધખે છે. 
A. પ્રલેગ  

B. અચ઱ લજ્ન 

C. નીમાંત્રણ ની યીત 

D. અંતય 

1 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) લીદ્યતુ િાંકિસણ ઩ધધતીનધ ફધસ્઩ િાંકિસણ ઩ધધતી િધભ ેનધ પધમદધ અન ેગેય પધમદધ િભજલ૊ 7 

 (b) ગતી િભમ લ઱ધાંક શુાં છે? ઉ઩નગયીમ અને ળહયેી િેલધ ભધિે લધસ્તવલક ગતી િભમ લ઱ધાંક 
દ૊ય૊ અને િભજાલ૊. 

7 

    

Q-3  Attempt all questions (14) 

 (a) યેખીમ પે્રયણ ભ૊િયની યચનધ અને કધમસ િભજાલ૊ 7 

 (b) લીદ્યતુ િાંકિસણ ભધિે D.C. શ્રેણી ભ૊િય ળધ ભધિે આદળસ છે િભજાલ૊. 7 

    

Q-4  Attempt all questions (14) 

 (a) કેિીનયીજ઼ વિસ્િભ લગીકયણ અને વલગતભધાં ક૊ઇ઩ણ એક િભજાલૉ 7 

 (b) વળય૊઩યી લીજ પ્રલધહ િાંગ્રહ ભધિેની અરગ અરગ યીત૊ જણધલ૊.ક૊ઇ ઩ણ એક િભજાલ૊. 
 
 

7 
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Q-5  Attempt all questions (14) 

 (a) ઉચ્ચ ગતીની િાંકિસણ ઩ધધતી િભજાલ૊. 7 

 (b) િાંકિસણફ઱ ભધિે િધભધન્મ સતુ્ર તધયલ૊. 7 

    

Q-6  Attempt all questions (14) 

 (a) િાંકિસણ ભધિે લીદ્યતુ િેટકિંગ ઩ધધતીનધ પ્રકય૊ િભજાલ૊. 7 

 (b) 400 ટ્નભધર લધહક ટૈ્રન 20% નધ ગ્રેટડય્નન્િ નધ ર૊ક૊ભ૊િીલ થી જ૊ડરે છે જેન૊ પ્રલેગ 
1kmphps છે. અધેિન ન૊ ક૊ઓટપિીમાંિ 20%, ટૈ્રન ન૊ અલય૊ધ 40 N/tonne અન ેઅચ઱ 
લજ્ન ન૊ અિય કધયક પયત૊ જથ્થ૊ 10% હ૊મ ત૊ ર૊ક૊ભ૊િીલન ુલજન ળ૊ધ૊. 

7 

    

Q-7  Attempt all questions (14) 

 (a) િાંવભશ્ર ર૊ક૊ભ૊િીલનધ મખુ્મ િધધન૊ ની કધમસ પ્રનધરી દ૊ય૊ અને િભજાલ૊ 7 

 (b) યેખધકૃવત િધથ ેઆનો કન્લિસય િભજાલ૊ 7 

    

Q-8  Attempt all questions (14) 

 (a) એક ટે્રન ટે્રક ઩ય 30kmph ળેડયરૂ ઝડ઩ ધયધલે છે. ફે સ્િેળન લચ્ચ ે ન ુ1 ટકભી અંતય છે. 
સ્િેળન ઩ધિે ન૊ સ્િૉ઩ેજ િધઇભ િભમ 20sec છે. લેગ ભાંદન  3kmphps ધધય૊ અને ભહતભ 
ઝડ઩ 25 િકધ િયેયધળ ઝડ઩ કયતધાં લધધયે હ૊મ ત૊  પ્રલેગ ની ગણતયી કય૊. 

7 

 (b) િેડયરુ ગતી એટ્રે શ?ુ તેન ેઅિય કયતધ ઩યીફ઱૊ જણધલ૊. 7 

    

 


